SECTION-A

‘write the most appropriate option out of the four options given for each

k. he questions 1-20. There is no negative mark for incorrect response. 20x1=20

ot 4
¥ -

‘among the following changes are exothermic in nature? 1
‘Qsition of Ferrous Sulphate
% n ;(af Vinegar
lh _ _j.‘l_itiqn of Vegetable matter into compost _

ng of Ammonium Chloride and Barium h&droxide

alance the following chemical equation, the values of the coefficients x and y

)

b MnO, + x HC@—+%sz+szO+C£z

(L) 252
g (J 45 2
, ',-fie“acﬁon is used in black and white photography? - I

¢,+Cu [\(b)/}AgCE =2 Cl,

(d) 2FeSO, — Fe,0, +80, + SO,

k- Parent acid Parent Base | Nature of Salt

NH,OH Basic

- NaOH Acidic

NaOH | Basic

[ NaOH

X- ' {CE-E



ﬁ'aﬁral' Soui'ce Acid present
_-l\finegar | Citric acid
. Néftle stiﬁg | Methandic acid
- 'li'or'nato | ' Oxalic acid
i Le;hon | “Acetic acid

W (if) and (iv)

() (i) and (iv)
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running, suffered muscular cramps during an extensi

% An Athlete after a huge gap from |

1 workout session. This happened due to:
(é) Formation of Glucose and presence of oxygen
\}b)/ Formation of Lactic acid and lack of oxygen
(c) Formation of pyruvate and lack of carbon dioxide
(d) Fonnétion of ethanol and lack of oxygen.

1 9. Receptors are usually located in sense organs. Olfactory receptors are present in :

(a) Tongue (b) Eye
(c‘))m - | ' (d) Ear
1 ~ 10. Which of the following is not an involuntary action?
(a) Salivation - (b) Vomiting
(c) Heart beatipg W Chewing
EE '11. The ability of a lens to converge or diverge light rays depends on its:
1 ‘ (a) - Optical penue ' (b)  Principal axis
(c) Image , ; \Ed)/F ocal length
12, When an object is kept within the focus of a concave mirror, an enlarged image 1s formed
e behind the mirror. The nature of image is:
1 | (@) real - | (b) inverted
() Virtual and inverted L(d)/\/ irtual and erect
13.  When light rays enter the eye; most of the refraction occurs at the :
1 | (a) Iris (b) Outer surface of the cornea

W p (d) Eye lens
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1

ﬁui'Vature of the eye lens, shortening of eye ball

in curvature of the eye lens, elongation of eye ball
_...:ifocal length of the eye lens, elongation of eye ball
" :'_;focal‘ length of the eye lens, shortening of eye ball

I

following methods of waste disposal is considered the least
friendly? | 1
(b) Recycling

(d) Composting

s

1re relate with biodegradable substances? ‘ 1
1 by biological processes

ay harm the cbns—ystem -

nment for very long duration.

f ,zigf‘fbf two statements - Assertion (A) and Reason (R)

cting th.e _appi'opriate option given below:

ﬂié'-correct explanation of A.
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A): Deficiency of Growth Hormone in human beings leads to Dwarfism. |

SECTION-B
jestion N "'“21%56-'&11‘(! very short answer type questions.

'dlpped in Copper‘ Sulphate soll_lﬁon. How will you prove that chemical

ken place here ? Support your response with two reasons. 2
well labelled diagram of human neuron. 2
§ ;-

OR
gof_brainiw@iph is responsible for following actions:
2
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ns is much faster than terrestral

i), Why rate of breathing in aquatic organist

4
/ organisms? ~

(i) Name the respiratory pigment in human beings and where it is present?

this can be

/?QA) In which eye defect crystalline lens becomes milky and cloudy? How

treated?

OR

(B) Define Dispersion. What is obtained as a result of dispersion?

-

6. = Gas ‘Z’ is found in the upper layers of the atmosphere, is a deadly poison but is essential
for all living beings. The amount of this gas started declining sharply in the 1980s.

(a) Identify Gas ‘Z’. Why is it essential fbr all living beings? 6’)( olond C
- | L) -\
(b) State the cause for the depletion of this gas layer. B F @m ( \ \J\C ()
pol\

SECTION-C

- Question No. 27 to 33 are short answer type questions.

I

- (y/ In the electrolysis of water: '
\«(a)/;ame the gas collected at anode and cathode.
(b)  Write the ratio of the volume of gas collected at each electrode.

(c)  Write the chemical equation of the above reaction.

28. The given reaction shows one of the processes to extract the metals like Iron and

Manganese.

MnO, (s) + AL(s) — Mn(¢) + 2A¢,0,(s) + Heat
(a) Give reason why the above reaction is known as a thermite reaction.

(b) Identify the substance oxidised and reduced in the above reaction,

Give a reason why Aluminium is preferably used in thermite reactions.
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of 6nch of the following in humman digestive sy’ ?

atnylase

Wajor three regions of Wuman brain and write one function of each. 3

Drs w rays diagram showing the image formation by a concave mirror when zn
object is placed - 3

W -~ Between focus and centre of curvature of the mirror.
v, =z

(¢) At centre of curvature of the mirror

i

OR
ieristics of image formed by plane mirror. 3

jagr ' ﬂwuﬁacuon of a ray of light through a triangular glass

t (i) angle of incidence (1), (ii) angle of emergence (e), and (iii)angle

d happ rf fin d of a ray, a beam of white light falls on

=

omenon that occurs in this case. 3

icave lens on the basis of nature of
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I (a)

(a)

(b)

g ()  When electricity is passed through an aqueous solutio

substance Z. )

. (b) -

SECTION-D

Question no. 34 to 36 are long answer type questions.

n of substance ‘W’ it

decomposes to form another substance ‘X’ and a gas «y’. Gas ‘Y’ is further used
for mﬁnUfaCturing of substance ‘Z’ which is used to make drinking water free from
1 ' germs. (a) Identify W, XY and Z. (b) Write the chemical equations representing

formation of substances namely X, Y and Z. (c)Write one more use of

-

OR

A chemical compound which is obtained from baking soda is used in
removing hardness of water. (i) Identify the compound. (ii) How 1s this

compound obtained in its crystalline form? State whether this compound 1s

Lh

acidic/basic/neutral in nature. Justify your answer.

- 5

Define neutralisation reaction. Give one example.

P, o

Name the process which is used by green plants to obtain their nutrition. List

the raw materials required for this process. 5

erte three er that occur (}Umg this cess in plants.

ﬂO\/Uz OC€§% "‘h&f\
%m%ﬁ” Wieter) p lagdes L_OM

- Name the organs that form tﬁe e“' x[cretory system in human beings.

| s) K\C\hCK/,uJ“lﬁ\‘CR (,{JtefM
Describe in brief how urine is’produced in thwn bw_{ N /

oladder
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SECTION—E

' 'ses electrons and has metalhc bonds. A metal shows
ctor of heat and electncrcy ‘They are generally
e table shows the reactlon of different metals with

X-SCIENCEF-E

- AR

#$



(a) Which metal(s) can displace ‘C’ from its salt solution? G\ |

g Which metal can dlsplace ‘B’ from its salt solution? 4 el M’}

Which metal is likely to be displaced by ‘C’? Why? W ("ff’ i\
QAR CC

s EEE A

OR

d) On the basis of the given table, what is the correct order of increasing
;_{; ctivity of metals? Give reason. :

e

ring a busy evening in the kitchen, Maya was chopping vegetables ‘when she
ceidentally cut her finger with a sharp knife. Immediately, without thinking, she
withdrew her hand and applied pressure to the cut. The quick and involuntary nature of

(,\n x €N
bove action known as? % 1
'hat is t l "’_ ction of receptors in the body? AT 28 C l

3
e of events which have occurred in the above case Cv‘\' o o I
! \(\ 6‘2)’1 '{— f‘dﬁ

OR M N
,i bacin = 4N

.. betW@en the Ways in which movemerg‘&ak C, place .111 }1800;

q-’x

i "

30 ;
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.
hich one of the above cases the mirror will form a diminished image of 1,
C

| 3) _;ect? Justlfy your answer.
I

t
Ei? two properties Of the 1m§ge formed in case 2 i

: '1 hfy your answer. ; ‘
I' \ : 4 2
e e S QR
An object is place ' 53 .
i-',tfls_i’l-a_‘??fi;at a._d18tanc,e of 15 cm from the pole of a concave mirror of
n -
gth 10 cm. Find the position of the image formed in this case 3
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